
No. of Printed Pages : 4 DECE-3 

DIPLOMA IN EARLY CHILDHOOD CARE 

AND EDUCATION 
• 	; 	: 

Term-End Examination 
December, 2014 

DECE-3 : SERVICES AND PROGRAMMES 

FOR CHILDREN 

Time : 3 hours 	 Maximum Marks : 100 
Note : Attempt any five questions. All questions carry 

equal marks. 

1. (a) Explain the meaning and significance of 
early childhood care and education. 	10 

(b) In your opinion, what should be done in the 
context of providing ECCE services in our 
country ? 	 10 

2. (a) Describe the merits and limitations of the 
Montessori method. 	 10 

(b) What are the features of a kindergarten, 
according to Froebel ? 	 10 

3. (a) What is unique about the care provided to 
children 	 5+5=10 
(i) in an SOS village ? 
(ii) in Mobile Creches ? 

(b) What are the main objectives and activities 
of each of the following : 	 5+5=10 
(i) NIPCCD 
(ii) NCERT 
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4. State whether you agree or disagree with each of 
the following statements. Give reasons for your 
answer. 	 4x5=20 

(a) An impairment always leads to a disability. 

(b) Each one of us is handicapped in some way 
or the other. 

(c) A person whose 'body' is not normal also has 
a mind that is not 'normal'. 

(d) A disabled child/adult can be helped to 
improve his/her level of functioning. 

5. (a) List ten signs that indicate that the child 
may be experiencing difficulty in seeing. 	10 

(b) What are the factors that will influence the 
cognitive development of a child with visual 
impairment ? How can the cognitive 
development of a visually impaired child be 
fostered ? 	 10 

6. (a) What are the main factors, pertaining to 
the communicator, which can hamper 
communication ? 

(b) What are the methods that you can use to 
impart messages through the child-to-child 
strategy of communication ? 

7. (a) Explain the features and advantages of 
planning. 

(b) Why do you think it is important for a 
supervisor to be 
(i) willing to take responsibility ? 
(ii) a good role model ? 
Explain with the help of examples. 
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